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Losungen Quiz 11

Version A

Welches der folgenden Integrale stimmt im Allgemeinen nicht mit den anderen iiberein?

@ [} f(x)ds+ [ f(x)dz,
(b) [ f(u)du,

(© [) f(x)dw — [T f(¢)dt,
@ [ f(z)dz — f; f(x)dx.

Losung: (d)

Version B

Welches der folgenden Integrale stimmt im Allgemeinen nicht mit den anderen tiberein?

@ |[) f(x)dal,
() [ ()] du,
© |f, f(x)dz,
@) [[7 f(t)dt].

Bitte wenden!



Losung: (b)

Version C

Welches der folgenden Integrale stimmt im Allgemeinen nicht mit den anderen iiberein?

@ [ (f(x)—1) da,
®) [} f(z)dz,
© [)f(x)dzr+a—b,

@ [°f(t)dt+ [ de.

Losung: (b)



